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QUESTION 1

Which of the following processor occur in the indexing pipeline?
A. tcp out, syslog out

B. Regex replacement, annotator

C. Aggregator

D. UTF-8, linebreaker, header

Correct Answer: D

Reference: https://docs.splunk.com/Documentation/Splunk/8.1.0/Indexer/
Howindexingworks#Event_processing_and_the_data_pipeline

QUESTION 2

In the diagrammed environment shown below, the customer would like the data read by the universal forwarders to set
an indexed field containing the UF\\'s host name. Where would the parsing configurations need to be installed for this to
work?

Fwders-Vian2
UF3 Indexer Cluster
IDX1
CM
Fwders-Vian1 Intermediate Fwders A IDX2
UF1 UF2 HF1 HF2

A. All universal forwarders.

B. Only the indexers.

C. All heavy forwarders.

D. On all parsing Splunk instances.

Correct Answer: D
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QUESTION 3

What happens to the indexer cluster when the indexer Cluster Master (CM) runs out of disk space?

A. A warm standby CM needs to be brought online as soon as possible before an indexer has an outage.
B. The indexer cluster will continue to operate as long as no indexers fail.

C. If the indexer cluster has site failover configured in the CM, the second cluster master will take over.
D. The indexer cluster will continue to operate as long as a replacement CM is deployed within 24 hours.

Correct Answer: C

QUESTION 4

A customer has a search cluster (SHC) of six members split evenly between two data centers (DC). The customer is
concerned with network connectivity between the two DCs due to frequent outages. Which of the following is true as it
relates to SHC resiliency when a network outage occurs between the two DCs?

A. The SHC will function as expected as the SHC deployer will become the new captain until the network
communication is restored.

B. The SHC will stop all scheduled search activity within the SHC.
C. The SHC will function as expected as the minimum required number of nodes for a SHC is 3.
D. The SHC will function as expected as the SHC captain will fall back to previous active captain in the remaining site.

Correct Answer: D

QUESTION 5

Which event processing pipeline contains the regex replacement processor that would be called upon to run event
masking routines on events as they are ingested?

A. Merging pipeline
B. Indexing pipeline
C. Typing pipeline

D. Parsing pipeline

Correct Answer: A
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